Geometry H Name : Kﬁu

Section 1.5 & 2.7 Notes Date: Period :
LEARNING . ) . .
e | can identify special angle pairs.
e | can find measures of complementary and supplementary angles.
TARGETS
The graphic organizer below outlines the different possibilities for a pair of angles.
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Example 1: Use complements and supplements

a) The nw;nglig twice the measure of its complement. Find the measure of each angle.
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Linear Pair Postulate (LPP)

If two angles form a linear pair, then they are /
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Example 2: Use the Linear Pair Postulate

a) Solve for x in the diagram.
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b) Find the values of x and y in the diagram.

fhese fwo angles make a \weav pavr
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8Xt206+3% =180 Sy+38+42 =180
X = 154

Extension...find the measures of the angles in example 6b, what do you notice about the measures of
the vertical angles?

since (5y+3%)° and (8% +26)° are the verhtdl angles, and both of them

are \28° we con oncude hat verhtal angler wave +nc same meagyre,



Vertical Angles Theorem (VAT)

Vertical angles are congruent.
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Z1=/3 and £2=/4

me) = mzd and me2 =mey

Example 6: Use the Vertical Angles Theorem.

7) a) Find the value of x and the measure of each angle in the diagram below.
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b) Find the values of x and y, and then find the measure of each angle in the diagram below.
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Putting it all together!
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8) a) Find the values of x, y, and z, and then find the measure of each angle in the diagram below.
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